Quiz #8 Math 260 Name: kﬁy
12/3/20
Show all your work clearly. No Work, No Credit.

1. Prove / disprove if the following is a subspace. Find a basis if it’s a vector space. (15 pts)
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2. Determine a basis of Ker(T), Rng(T) and then indicate if T is injective, surjective , bijective. (15pts)
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3. Let {Pz, < 7, g>} be an inner product vector space where I f . Given
f(x) =2x-3 and g( ) x> +1. Determine Proj (10 pts)
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4.

Determine whether the following matrices is diagonalizable, where possible, find a matrix S such that
S7AS =diag (A, 4,,...4,) (10 pts)
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